
 
Which of these is the Worst-case time complexity of Quick 
Sort - and cannot be expressed in lower order terms? 

  

O(n) 

  

O(n log n) 

  

O(n2) 

  

O(n3) 

 

 
To receive signal, a translator is needed to decode signal 
and encode it again at a 

 High Quality 

 Lower Quality 

 Same Quality 

 Bad Quality 

 
In ROM BIOS, the acronym BIOS stands for: 

 Basic Intuitive Output Set 

 Basic Input Organizational System 

 Basic Input Output System 

 Basic Industry Operating System 

 

 


